Confidentiality Requested:

Yes No

### Kansas Corporation Commission Oil & Gas Conservation Division

1233547

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

# WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R 🗌 East 🗌 West
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	GPS Location: Lat:, Long:
Name:	(e.g. xx.xxxxx) (e.gxxx.xxxxx)
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84
Purchaser:	County:
Designate Type of Completion:	Lease Name: Well #:
New Well Re-Entry Workover	Field Name:
☐ Oil ☐ WSW ☐ SWD ☐ SIOW	Producing Formation:
☐ Gas ☐ D&A ☐ ENHR ☐ SIGW	Elevation: Ground: Kelly Bushing:
☐ OG ☐ GSW ☐ Temp. Abd.	Total Vertical Depth: Plug Back Total Depth:
CM (Coal Bed Methane)	Amount of Surface Pipe Set and Cemented at: Feet
Cathodic Other (Core, Expl., etc.):	Multiple Stage Cementing Collar Used?
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth set: Feet
Operator:	If Alternate II completion, cement circulated from:
Well Name:	feet depth to:w/sx cmt.
Original Comp. Date: Original Total Depth:	
☐ Deepening ☐ Re-perf. ☐ Conv. to ENHR ☐ Conv. to SWD	Drilling Fluid Management Plan
☐ Plug Back ☐ Conv. to GSW ☐ Conv. to Producer	(Data must be collected from the Reserve Pit)
Commingled Paymit #:	Chloride content: ppm Fluid volume: bbls
☐ Commingled     Permit #:       ☐ Dual Completion     Permit #:	Dewatering method used:
SWD Permit #:	Location of fluid disposal if hauled offsite:
ENHR Permit #:	·
GSW Permit #:	Operator Name:
	Lease Name: License #:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R
Recompletion Date Recompletion Date	County: Permit #:

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY
Confidentiality Requested
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II III Approved by: Date:

age Two		
age Two	1233547	

Operator Name:				Lease I	Name: _			Well #:	
Sec Twp	S. R	East	West	County	:				
instructions: Sho open and closed, flowi and flow rates if gas to	ng and shut-in pressu surface test, along w	res, whe	ther shut-in pre hart(s). Attach	essure reac extra shee	hed stati t if more	c level, hydrost space is need	atic pressures, b ed.	ottom hole tempe	erature, fluid recovery,
Final Radioactivity Log files must be submitted	-					gs must be em	ialled to kcc-well-	logs@kcc.ks.gov	v. Digital electronic lo
Drill Stem Tests Taken (Attach Additional S	heets)	Ye	es No				ion (Top), Depth		Sample
Samples Sent to Geole	ogical Survey	Ye	es No		Nam	е		Тор	Datum
Cores Taken Electric Log Run		☐ Y€							
List All E. Logs Run:									
		Repo	CASING	RECORD	Ne		ction, etc.		
Purpose of String	Size Hole Drilled	Siz	e Casing (In O.D.)	Weig	ght	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
			ADDITIONAL	. CEMENTII	NG / SQL	EEZE RECORI			
Purpose:  Perforate Protect Casing	Depth Top Bottom	Туре	of Cement	# Sacks	Used		Type and	Percent Additives	
Plug Back TD Plug Off Zone									
Did you perform a hydraul Does the volume of the to Was the hydraulic fracturi	tal base fluid of the hydra	ulic fractu	ıring treatment ex		•	Yes Yes Yes Yes	No (If No, s	skip questions 2 an skip question 3) fill out Page Three	,
Shots Per Foot			ID - Bridge Plug Each Interval Perf			Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used)			
TUBING RECORD:	Size:	Set At:		Packer A	t:	Liner Run:	Yes N	lo	<u> </u>
Date of First, Resumed F	Production, SWD or ENH	R.	Producing Meth	nod:	g 🗌	Gas Lift	Other (Explain)		
Estimated Production Per 24 Hours	Oil B	bls.	Gas	Mcf	Wate	er	Bbls.	Gas-Oil Ratio	Gravity
DISPOSITIC  Vented Sold  (If vented, Sub.	Used on Lease		Monther Monther Monther (Specify)	/IETHOD OF	_	Comp. Co	ommingled bmit ACO-4)	PRODUCTIO	ON INTERVAL:

Form	ACO1 - Well Completion
Operator	Lakeshore Operating, LLC
Well Name	Fuller LO-31
Doc ID	1233547

## Casing

Purpose Of String	Size Hole Drilled	Size Casing Set			Type Of Cement		Type and Percent Additives
Surface	9.875	7	23	40	Portland	12	0
Production	5.875	2.875	6	1098	POZMix	174	0

3613A Y Road Madison, KS 66860 Ph: 620-437-2661 Fax: 620-437-2881

HURRICANE SERVICES INC

104 Prairie Plaza Parkway Garnett, KS 66032 Ph: 785-448-3100 Fax: 785-448-3102

FED ID# 48-1214033 MC ID# 165290

Customer:

Remit to: Hurricane Services, Inc.

LAKESHORE OPERATING LLC

C/O CAROLYN JERGENSON CPA LLC

250 N. Water, Suite 200 Wichita, KS 67202

> 11/7/2014 Invoice Date: Invoice #: 0015439 Lease Name: **FULLER** LO-31

Well#:

WICHITA, KS 67211	Lease Name: Well #: County:	w	LO-31 OODSON
Date/Description	HRS/QTY	Rate	Total
See ticket 50440 of JB	1.000	675.000	675.00
Mileage	40.000	3.250	130.00
Vac truck #108	2.000	84.000	168.00
Vac truck #111	2.000	84.000	168.00
Bulk truck #240	1.000	150.000	150.00
Cement Pozmix 60/40	174.000	12.000	2,088.00 T
Bentonite Gel	200.000	0.300	60.00 T
Bentonite Gel	348.000	0.300	104.40 T
FLO Seal	43.000	2.150	92.45 T
City water	4,600.000	0.013	59.80
Top rubber plug 2 7/8"	1.000	25.000	25.00 T
Discount	1.000	118.500-	118.50-T
Discount	1.000	67.540-	67.54-

Net Invoice 3,534.61 Sales Tax: (7.15%) 160.97 3,695.58 Total

All invoices are due upon receipt. Interest at the rate of 1 1/2% per month may be charged on all invoices not paid within 30 days from date of invoice.

WE APPRECIATE YOUR BUSINESS!

9308 Stage Z



250 N. Water, Ste 200 - Wichita, Ks 67202

## **HURRICANE SERVICES INC**

104 Prairie Plaza Parkway - Garnett, Ks 66032

		1				ĭ	<u> </u>		<del> </del>	<del></del>		
			e Operating LI	LC		Customer No.:	· · · · · · · · · · · · · · · · · · ·		Ticket No.	<b>'</b>	5044	10
Ac	reas	<b> </b>	···			AFE No.1		P.O. No.1				
Gity, Slate	, Zip:					jet type	Cement Lon	gatring				
Borvice Ok	tric t				,	Well Types	2 7/8 casing	set at 1098	5 7/8 hole at	1110	·	
Well name &	No.	Fuller leas	se , LO-31			Well Lecations		County	woodson	State:	KS	
Equipmen	#	Driver	Equipment#	Driver	Equipment #	Hours	TRUCK CAL		1	<u> </u>	₩	TIME
26		Joa					ARRIVED AT				*	†
231		Tom					START OPE			***************************************	AN Pri	
240		Troy					FINISH OPE	RATION			~	
111	_	Tyler					RELEASED				3.2	
108		Jeff			<u> </u>		MILES FROM			···		
	ļ								ved circulation			
	_			<b> </b>					spacer. Pum plug to botto			
····	<u> </u>		<u> </u>		ļ				well in., Cen			moo. Leit
	<u> </u>			<u> </u>		ļ	,					
ProductiServ						Unit of		List	Gross	ltem		
Coda		Description				Measure	Quantity	Pasestiot	Amount	Discount		Net Amou
00101	<u> </u>	Heavy Equ	ip. One Way			mi	40.00	\$3.25	\$130.00			\$130.0
00102	<u> </u>	Light Equip	p. One Way			mi		\$1.50	\$0.00			\$0.0
23103	<u> </u>		ump (Multiple w	vells)		68	1.00	\$675.00	\$676.00	5.00%		\$641.2
10800	ļ		ruck 80 bbl			ea	2.00	\$84.00	\$188.00	5.00%		\$159.
11100	<u> </u>		ruck 80 bbl			ea	2.00	\$84.00	\$168.00	5.00%		\$159.6
0104	-		on Mile Charg	e		ea	0.50	\$300,00	\$150.00	6.00%		\$142.0
21603			nix Cement			sack	174.00	\$12.00	\$2,088.00	5.00%		\$1,983.0
)1607 )1607	-	Bentonite ( Bentonite (				đ	200.00	\$0.30	\$60.00	6.00%		\$67.0
01611	┢╌	FLO-Seal	381		******	lb lb	348.00	\$0.30	\$104.40	5.00%		\$99.1
02000		H2O				gal	43.00 4,600.00	\$2.15 \$0.01	\$92.45	5.00%		\$87.8
21631		Rubber 2 7	/IR			ea ea	1.00	\$25.00	\$59.80 \$25.00	5.00% 6.00%		\$58.6
					<del></del>	- 04	1.00	\$20.00	\$20.00	6.00%		\$23.7
	ļ											
	_				······							
	-			<u></u>								
	$\vdash$						·					
·	-		<del></del>		• • • • • • • • • • • • • • • • • • • •							
	$\vdash$		****		······································			i				
	<del>  </del>					<del>  </del>						
	М					<del> </del>	W					
RMS; Cash in	htiyar	ice unless Hurric	cane Services Inc ha	s approved cree	il poor lo sale	L		Gross:	\$ 3,720.65	Net:	<u> </u>	3,541.1
date of myoice	e, Pas	t due accounts t	inik are total imvoice ( may pay interest on ti	he balance pasi	due at the rate of 1	Total	Taxable	\$2,251.36	Tax Rate:	7.150%		
5 per month or the meximum allowable by applicable state or federal laws if such laws limit trest to a tesser amount. In the event it is necessary to employ an agency and/or altomey to.				and/or attorney to		ervice freatments de				160.9		
	ect the collection of said account. Customer hereby agrees to pay all fees directly or freetly incurred for such collection. In the event that Customer's account with HSI becomes					Oduction on newly d wells are not taxable			Total:	\$	3,702.0	
rct the collection really incurred	s the	rigiN to revoke a	any and all discounts invoice pies without	previously appl	ied in amying at net	-	Date of Consider				<u>. F</u>	-11.08.0
rectly incurred inquent, H\$1 hi	in 1444	ect to collection					Date of Service			11/7/2014		
rectly incurred inquent, H\$1 hi oice price. Upt	g enp					HS	Representative:	Joe Blanchard				
rectly incurred inquent, HSI hi oice price. Upo i and owing an	in revo								Jackman			
irectly incurred inquent, H\$1 hi oice pnce. Upt	d subj					Custome	r Representative.	<del></del>		Jackman		
krectly incurred inquent, HSI hi oxce price. Upo e and owing an	n revi		MER AUTHORIZED AG			Custome	r Representative.			Jackman		

Hurricane Services appreciates any Comments. Concerns or Criticism's from our valuable customers as Safety and Customer Satisfaction are our Number 1 goal.

All Comments are confidential and will be used in a constructive manner to improve our Safety and Job Performance.